2018年重庆中考数学真题【图片版】
[image: image1.png]g;;srﬁzmaiFwPéimfFEE*iﬁi%ﬁ
Bk (A

(RBREAKI I 150 90, 4 KoH 120 94p)

N,
LRMMER SR LA ARARELERNE,
2HEHUARA A LSRR,
3B CIHRIE) K~ AR EEFELR;
SRR, QBRI T~ K

;*a:ﬂ::nmay:uw.m(mommagbm( T ) AW m L

TORBR (KK 12N, 508 4 5, 3t 45 D ERNMESFE, Bt TR Y A
B.C.D sy g, ek

A RIEY, A S 1 0 R BT 0
HERM.

ail .

L2
Dr o pmmmm R

N

f 2

HA= ] [T R
A B.

8 3 c
O 3 ﬁluﬂmlﬁmmﬂ“,umﬂml&ﬁl

ARURAT B. M8 50 % R EWRAT
L. REUARER MUMR=42Z—MAT D

AT
 EEABSUEI MM ER, I RO MER A 4 =T, MO ERAH 6 =
(A =  BONBEHS AT, - BRI 2 MND g

KX XXX XXXX - vt

®
e

B1s ci6 D.18
Al HEREA) 1067





[image: image2.png]Cs mmtm e g,

RO It — 1= gy
ERMBORIK

= KA S cm,6 om B9 cm, B

2 Sem, MENRKLY

Adem 4 e Casam ko]

FASBER SR

S BRI AT gy B AR RIS

CRBOMMRT s DERBHHARTMENTS
R tavm.m, . LTS

Alf2 2w B.2f03 2w CEETEL ] DARSEN
Cs. BB E N R Mt 00 12 1

Axe3ges

Ba=—t =2

Cxmzgea 448

D.x=4,y=2

')

o
R .48 00 1. 1t .10 00 WA D AL
WIZ PD ORI C 700 K420 4,8026, M PA KK

e £ »2s
(1% %
i £

3 )4 %»’ !

= 0w nEE gy
9

R L IR SR, 7 S e j_‘
A 1 -
&n-.mﬂwﬂ

TR FME 2

AED=S58°, F I R AEEIM FRIETREM DE=T .

E mnmlmfs’“ o3 % TR CD na; LT
i=10.75,

L
e
Bk 3

5 ADCD WILAAB BRIy~
R

4 -
.05 40D BB b





[image: image3.png]AARHEABUN, BERT 7 WTE

n 042

5 2 BN N R R AOB A 0 1070

i -3 B.-2 c1 22
TR AR MG 4 5,32 50) SR ER AR PR

2 8o KT « MR Hsta 3

55-2250a

WL

133 |23y = _

14 4008, EKE ABCD t AB=3,AD=2, 1145 4 HBs AD K $¥ EEIE, 2 AB T B, Y
BB OEBUL (R 7).

1S BB MICKE LRI SRS BITR A, A RIS AWE, WRBRIEH TETN
FIS RO9BE LR, 28 T 0B B 95 ¢, W HR M SRR BN

16. 4008, = MIBLH TR, W BLE CSE A RE, FMSH% DE,FC, 88
LAGE=30°, % AE=EG=2/SHUK W AABC §33f1 BC #9KH. k.

17.A,B PG MY 240 T, F . ZH MR
BEAA MR B B A, SR —E MR
FRUR O HWE, ZFA HR BPZEREMR,
SRR 20 540 B, 2 F F IR ERRNRST
10 F /(RIS , B ZPERNSGS B
* -,.z.n;g:_u‘-ryt;ma!tﬁnnm
Chn)Z e X RBERR KL F 4751, B S
wER_____Th y

18 XA R, RUERLE STRART ZARORRAER Kb, g
REREA THAN, I THOERLLTHCERZRERSREN | T34 2
FRBER2 TR CHN T ZAHREERIRE R IR 45,0 =pgig
BREOZR 04 RATIAAN N 6 T, RRERERENY 555 % s,
0%, Z BRI, 20%, ZXARRIERNNMHFRLS 2%, 0ik oy
P ZMHEREARNYRZ LR

TR -EEIRED, | o
L L T Y e

: A

»IHGEST)





[image: image4.png]IR sa - . R

IR CEATE2 MBS 51,35 16 ) W 5/ MG S04 D MOV AR
R RO SIEMR) WAL T 09 L
10,006, 108 AB//CDBC ¥4} LABD, £1=54%. 12 18

1988
20, FATR R T BUARE X 4P R0 MR 17 TS5 S T ST RN

] ARG
T w2 &

A pRAARR SRS AR B b
B HU KN, AT RREHRER

i

L]
RN L

.1




[image: image5.png]22, WA RIS H8R y=-ee3 2GS m) L1y WAL B JEA A0

2 B L 4 M A C LA C B =20 FMMAT y WAL
ORI CO wMEEs

(2) ISR AB 5 CD T 4 £ 1R CD 1 ED 7 TS F B3

ELILA B OGN RIE CD G BB £ WA
prrer

23 S HR A A ORI X
(OB 1 55 ), HEBR IR LK 50 A SRR
B AR R 4 I SRS L 5 MBRACHIRE
PRESTH AR

AR R RN R, IR L
R L 207 JORM R A T8 AT O R
oA T BT XSRS SR | 2, LB ID
T kRS RIS A IS B 6 JL R EFIE ABH
BABRE 217 R a0), TR MBS, 5
A AR ik AR %, So% B ARG

SO B 2855 | 55 KR Ba% R o WL

24,80, FEPETRS ABCD 2 0 RRAER AC R0 AL, 51 £ b BC 115, FLAB=AE, 3
1250 JHEK A AD T ALF.AA B AE IR, WAL 11,2 AC T41.6.
A= R BABE L /!
()% LACB=45° JREDF =206

2mm
LB 8 9. S ML EBRFZ Rty o,

TR 99 R IR

B 975 M S R o BT W B





[image: image6.png]TR G 1

M 1Y WS AL SR NRN L ERRAS R
BLEHIEE e
20 ) WA S T AR

B LA R e R 12D AN XTR
ATt HELA 5y WA TALC, A WAL & 8 MR
CRE AB 0,

(AP HIBAD LM -2 1 A0 MR AD TP

AR R A0 L A

PP, o R 5P 1 BRSO

SLAFE CF B S A0 2T 4.0, /4R HRWAUBSLS -4, EFRIA

i
SRR S LA D, 0,8, HINARMAI W 0 WA
S B B M

9 d 4 "

® (51
PR

=] 7 v
2688

«l




